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Outline

e MC/Data issue of QmilD background for 2LSS analysis

 Deal with New sample



truth-closure test

e Set the same pre-selection about likelihood and truth-matching

e Problem solved
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Charge dependence
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Updating QmislID rates

Tight electron

MC(likelihood) Data
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gfw2 production

e HH-ML FW2: ttHML-GFW1 —>GFW?2

https://qitlab.cern.ch/atlas-physics/HDBS/DiHiggs/multilepton/hhmlfw2/tree/
master
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https://gitlab.cern.ch/atlas-physics/HDBS/DiHiggs/multilepton/hhmlfw2/tree/

Back up



Introduction

e Final states: 2 same signed lepton, one of them could be QmisID
Muon QmislID rates <10/-5, only consider electron
e Two contributions :

Hard bremsstratrung process , |eta|

Mismeasurement of the electron track-curvature , |pt|

e Stratagy: derived from Z->ee data based on MLE
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e dataset:15+16+17, 80fb-1

e MC samples: Z->ee(SHERPA)

e \ariable “ElectronsCase” are used:

1, both electrons are tight 2, both electrons are anti-tight
3, one tight and one anti-tight 4, at least one tight

e Selection: all go though LOOSE

e Jet number >=1: ndets_OR_T>=1

e Bjet veto: ndets_ OR_T_MV2c10_70==0
e |Lepton pt>=10GeV
e Only ee

e Bin set

e |eta| [0.,0.60,1.1,1.37,1.52,1.70,2.00, 2.47]
e Pt [10,60,90,130,1000]GeV



